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( B ) B HECH OFUEIRFIT S7EAI? (A)3 1 (B)4: (©)5: (D)6
(D) - HRHERLE 7

(A) (B) © (D)

I
d

( B) 7r (= H' g p&r&fﬁ [JH - [[ahﬁ—;:f;ﬁ E@J&F? (A) C4H,COOCsH;, ; (B) C;H,COOCsH,; ;
(C) C4H9COOC4H9 ; (D) C4H,COOC:H; -
A ) RN B R PRI T EAT2(A) BRI (B) T (C)ERER (D) P -
C) [ﬁ”ﬂ[ﬁjlﬁjﬂ 4 “HPURE 2 E‘Jﬁﬂ?fﬁj;}i g 'f' ?2A)1:2;B)1:15(C)2:1;(MD)2:5-
A ) PIPRSREIN R £ B - RUPERY lel )5 (A) SIS (B) 5194? »(C) A% 5 (D) Jp'Th -
A) T BRI A 0GR VI PR ¢ (A) E>E>E>T SRR (B) £>F>D ST
(C) E>F>pLE>g + (D) Z>F>g>flé o
( B) YR IEVEF TS B3 H 5D (A) 17 (B) &3 (C) £573 (D) & -
(C) = JZ OGP SRR P H AR % 2 (A) OCFUFERS 0CHYT 5 (B) 100°C Ry 100
CTRUAEs 1 (C) 855+ T 8UR 5 (D) ZIF@nb COtEL | -
CA D M[E= FEHER T HOET PR 2 (A) FRERpE s g 5 B) THIE PR 5 (C) FIfrpass 4]
(D) FHpTIpERTL -
(€ ) BaSO4T: ™SI fif 0.01M IV TS - (A) NaNOs + (B) NaSOs  (C) Mg(NO),
(D) -
( COHE[BFUHAET  Cr07 g+ NOg+? 5 Cr¥'uqyfNOs g + 2 1 i H (FHrFIEL 1 (A) 185 (B) 195 (C) 20
(D) 21 -
(A D)3 Rl A F 2 (R H ERTE 2 (A) CH;OH>CH3NH,>S0,>Cly ; (B) CH3NH, >CH;0H>S0,>Cl ;
(C) CH;0H>CH;NH, >C1,>S0, ; (D) Cl,>SO,>CH;0H>CH;NH, ©
( B ) H- {52 Pff 2 (A) SO5 ¢ (B) SO5™ i (C)NO;'; (D) BF; -
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1. (8%) U lméf{f?a Ra n‘;ﬁé4 [/)f?ﬁ—lﬂ K

J

COMEGTED 7 QBT AN 2015 62
ffﬂ YHREARME 7 T [E'Na LIRS A > PSER T 2
(l)li”ﬁ' Fl =0 £ ’TEIP%‘;T\?’% FI 1 . A6 i O (BFHEE) #8 - §
HEEL 60 (2F @ = @ BiTY EV EE7E) 12 f#) (2) unit cell: sodium ion
1+(1/4)*12 = 4, chloride ion (1/8)*8+(1/2)*6 =4 (3)Na':ClI =4:4=1:1 ..%f

E&="£}NaCl (4)Na ﬁﬁqﬁE—ﬂr ) E'[J’%%ma’[/Fﬁ Fha=+2 1 a=+/2 12rA

(8%)~ ’\j\?v%%é FUSEE " 10° 7] iUC,sHaog) SIS » HINFIPYSE 55 0.80g/cm’ » ,F[TEI(I atm ~ 20°C) i FU9EEE Popl
E] 70ppm (! FRARFRUNO(g) - FEFFETE [ 1) 278 IUNO(g) % F | CisHiy + 2305 — 15C05) + 16H,0 g
R =0.082 atm-L/mol-K -

ANS: 10°100%0.80/212 = 3.8x10° moles oil > V=nRT/P = 3.8x10°*31(=15+16 from left side of equation) *0.082%293 =
2.834x10° Liters ~ 2.834x10° * 70/10° = 4.984x10° liters ~ n =PV/RT = 8.3x10° moles of NO per day



G- %-d T - R -1
(6%)ZS I T 1 FI P & 4 =9 JJ/f?“EJ‘r'@U/;ﬁEJ i BER 2 TGRS VIR ALY R U1 V10" A s ok = 97
PR o b BE AR ST TR o PSP R L BRI R e sz IIA“J 0.10 MfivFe’ wMg*" > %i/méfiﬁfu
ifk e pHI - PR~ BET TR 2 [ s (™ fffﬂmg kP 7@ « Ksp(Fe(OH);) = 4x10™ » Ksp(Mg(OH),) =
1.8x10™ -
Fesk 2 1W¥EE 10°5[OH-]® = 4x10°% » [OH-] = 2x107" » Mgﬁfjt{ﬁiﬁ?ﬁ& 0.1*[ OH-]* = 1.8x10™"" » [OH-] = 1.3x105" > J[JJOH-]

T 2x10M~1.3x107FL] » pH 3.30~9.11 f&]

(8%)FRAEFE ™ 3| = ﬁfw H 52797 2 CHy(H-C-H ~ 109.5%) » CH5CI(H-C-H ~ 110°) » NH3(H-N-H ~ 107") » H,O(H-O-H ~
105%) - ANS: sp3, tetrahedral > Cl more electronegative than H » electrons are close to Cl that let angles to open(if

answer is major difference ?) » N,O have one or two electron lone pairs to push angles down

(6%)0.0100M3/’F'?ﬁf%23ﬁ?r& » SEHPTH [H]D i | PR 5T A K, = 1.2x107 -

HSO, =SO/ +H"

0.01-x x 0.01+x Ka=x(0.01+x)/(0.01-x) x=1.52x10"°, [H'] =0.01+0.00152 = 1.45x10
pH =1.84

(7%)500K[ » fL 32 G [EH]55 37N = 505 + 6NHsg) — 6NOg) + 9HyO(q) = 5 [ [ IKFJNO(g)ﬂ/ LAY R IR
F£% 1095 mmHg-s™ » 7 ﬁ'[ﬁjﬁ?j Pl (a) RIS DV % Pmol-L'-s" 2 (b) @ D Vi bl % pmol-L-s" ?
PV=nRT n/V=P/RT: d[NOJ/dt=1/RT *(dPyo/dt)= 1095/760/0.082/500 =3.51x107 mol L''s™

Rate of disappearance of ozone = -d[O3]/dt = 5d[NOJ/6dt =2.92 x10”% mol L's™!

Rate of disappearance of ammonia = -d[NH3]/dt = d[NOJ]/dt =3.51 x10% mol L''s™

(6%)f/ B (silica gel) ERSIO fiv— i > (a)34) J‘&’%ﬁ]NazSiQE@@i{fﬁ’ﬁ—‘kﬁﬂiﬁﬁoz RS2 () EL R I'T’F/Ejﬁﬁ H]
A1 2
Na,SiO; +2 HC1 = H2SiO;+ 2 NaCl H,Si0; dehydration to get SiO, » SiO, porous particles have large

surface area to absorb water
3.51

(6%) B BV | AgNOﬂF* il fTR L > 2T TKCrOL Hidfi - Bl EEE e 'F:?gﬁ W%’ﬂi” -
HUAECrO, o ¥ EEy 71@«{31#‘ Jﬁfﬁfz[f&ﬁ&ﬁfﬁlﬂiigpﬁﬂj f VUL SR N R Y 2
In Acid solution ( pH<7) : chromate changes to dichromate ; in base (pH>10) precipitate is formed Ag(OH),

both are positive errors



CHEREY R LT RERMEALS RFLBHHCE ) (5 HR)
(BE£-0 > ¥-8) IR kA
-, ER (HE-FHIA > 1345 4)
A) IR FESE R T S RAEVIIE? (A) FIRTE S (B) 447 (C) fiiE s (D) PRk -
) T PHFIESE L & sy NIRRT RS BIR 42 (A) -5 (5% 5 (B) 15T 15 3 (C)2- [ 5 (D)1-F[ 4 -
B) ’”ﬁﬁl I G i PR nr’ji»#n PR P2 (AR PP BRI R : 0L -
C) =7 P RL PR - A~ RGPV 2 (A) 4 5 (B)5 s (C) 65 (D)7
D) MIIRGHCT EEE P RGOS VHRGHE R Y (A) T (B) 1R (C) S (D) B e
D) - a‘lﬁﬁ‘iﬁi SELh [Iﬁg"lé%pn} 35.5% fug [~ (55" EIE) 159) i‘,figi]’fﬁj 800 mL iV 0.1M l'“’ff%'i?f
e % PRI 72 2 (A) 6.8 o 5 (B) 156+ (C) 268 ; (D)35.8 71 -
7. CC) I APl P H D B G BRI 2 (A)PCly 5 (B) HoO (C) NaCl ; (D)Cl, -
8. (D) [H{™#f F' P - RSP BT BRI ORIV BT 2 (A) R (B) AT
(C) FhyE s (D) T e
9. (C) s (Wbt af )T 1) PEE VAR 0 Gl M gt 1y e S0 Gk LA PR 2 (A) i
(B)¥ifie : (C) % : (D) #H -
10. (D) NARNEAVEE LRI RUNEE S A AP7 0 (A) SRS (B) JUP
(C) =& (™f/: (D) S [~ -
1 CC ) By Rl o Ty BER - ELHTOE GRSl 27 O VR X BEETED 8 [ i s R EAEVRLT Y~ B
1556 0 FMIHEE YIRS 1S 2 (AXY 5 (B)XY2 5 (C)XYs s (D)XeY -
12. (B) Fﬁﬁ?%'ﬁu%r* » N HELSREY (A BikELsp 2k (B) FPLARE Tl 5 (C) 6 [l
(D) 12" H b~ e
13 ( D) SREP=R & & SRESs o~ S ™ Ead it > TS AR s 3 FRRCRR T VR AR
REFAIEL © (A) 193 (B) 20:(C) 21:(D) 22-
14 ( B) fFOTEEZ™ « APTEES S PR 2 (A) NagS i (B) NHy i (C) NaCl i (D) NaOH
15 (D) A HERI VRS et W5 SRR 2 (A o (B)L2-2 g 4% 5 (C) 4% 5 (D) 11—
“oHk
BRI E (£ 55 A4 AL
1 (B%)=151H Py = T -3268 ko BRAVEL 2

(
(B
(
(
(
(

o > w DN Pk

£ -393.6 kI o &S fIUEIE S

7 -285.8 kJ » SRR UL

T Ry
CsHe gy + 15/2 O, — 6 CO; () + 3 H,0¢) AH; = -3268 kJ

C(s) + O, @ = CO;z g AH, =-393.6 kJ

H; ) + 1/2 O; ¢ = H,0y, AH; =-285.8 kJ

6 CO; g + 3 HOp) = CeHs ) + 15/2 O, -AH;

6 C(S) +60, @ = 6 CO, @) 6 AH,

3 H2 ) +3/2 02 (9 -3 H20(|) 3 AH3

3H;+3Cy—> CeHs ) AH = -AH; + 6 AH, + 3 AH; = 49.0 kJ

2. (6%) 1™ IR [ P 70 ?
P (b) (BYCHs(CHy)o)sSnH :

8]
3 (c) (CF5C0),0 -

0O 0
(( H FSC’J\OJ\C Fs
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3. (12%)Fili ™ it 1£E 5‘ 3= [dlad 7 TRy L K]
@*L » Q7> Qf '["?E @COZ J éﬁ/ ®AIl > @NaCl > ®KCIO; » QHCN > (0SiO, » WKOH > @KHF;.

AR OO ; 8 0OOQ= HF , PFIAH IFEERE
Eﬁ% ®: #4: Q0 MR DO®

4, (8%)FRFEANSO,” I SEHEPU T (T 2 TAIRER (T 2 BRI 4 (WS-O R 1447 149 pm > %[ 5 B SRR R
fi !

‘O-(0=) S (=0) -O" > sp3 > tetrahedral > because of resonance, all SO

bonds has the same length

5. (8%) T BEFMRE [~ (11 A 1) 88.8%(TTEI)UEH - I') P KL [#] > 1.00 Tufiu (= (37 A i1 906 224 (25.0C -
100 atm " &) fUERFRSE 2 (27 - <7 100 atm ~ 100°CH > 0.120 Jufiv A = AF0HL 5PN » (41 67.9 7] «
(@) A [ (Pl 533 28 S 2 (o) e i = TR B P > 2T i

88.8/12.11.2/1 =2:3~ empirical formula C2H3 > n(moles of A in 0.12 grams) = 1*0.0679/0.082/373 = 0.00222 moles » molar mass

of A =0.12/0.00222 = 54.05 > molecular formula : C4H6 - moles H in reaction with 1.00 grams of A, (i.e 1/54.05 =0.0185 moles of

A) 1 =PV/RT = 1*¥0.906/0.082/298 = 0.0371 moles - that is 1 mole A reacts with 2 moles of H2 - The A compound may have 1 triple

bond or 2 double bonds °
HC=C-CH2-CH3 ~ 1-™ ¢ » H3C-C=C-CH3 ~ 2-* A » H2C=CH-CH=CH2 ~ 1,3-= ™ %% » H2C=C=H)CH3 ~ 1,2-= ° *%

6. (10%)Cu™ il i KRl 4 » - ff’* TEE A SR TR EI ) T RS BB RS ﬁ’?% i
F”[E“E,FIJF“I'FL,T”:?JT@TP &L [f fi LS lf F,f}*ufﬁi FF[IEJT tﬂrrﬂﬂap %Egﬁ %‘*?F’rr_,ﬁ;'ﬂ@"njlﬁg_ﬂﬁ I
[Cu(Ho0)al SO ™ (7t “f= 1Y [CU(HzO)4]2+%‘§‘59 SO HEY o St Hip wgvﬂﬁéu’f’w*ﬂ%&p
JFe Cl~N- Hrgw PR 13040120 550 Fgf@%@g*‘zﬁ]tﬁﬁf (T R T P s R B

AR (a) Fepvpi M-85 26 » Rt EURST VRS RE © (b) BERCSHES Y VAR | (C) AdE S T
([ B AGT (Fe™ Tt 575 6 ’,‘szsp3ﬁ“ﬁ[) !

77(?7 /j{—crz,

48

[Ar]3d®4s? »  [Fe(NH;),Cl,]* » octahedral

7. (5%) £ ([ H Ofv i 4 7 4c5ﬁﬁﬁ« ?
The kinetic energy and volume will be increased when the temp increased » the density will go down
When ice melting, the water molecules go into the rigid structures of ice and volume decreased, the density

goes up
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